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1. If the Laplace transform of y(t) is Y(s), the inverse Laplace transform of Y(s)

=In(1+izj is (A)E(l+cos3t). (B)—g(1+c033t). (C)E(l—COSSt). (D)E(COSSt—l).
S t t t t

(E)%(1+ cos3t).

2. Inthe following period functions, which one has its Fourier series is a Fourier sine
series: (A) f(x) = x if -r <x <z and f(x+2x) = f(x). (B) f(x) = |x if-r<x<=z
and f(x+2x) = f(x). (C) f(x) = x? if - < x <wand f(x+2x) = f(x). (D) f(x) = e
if -7 < x <m and f(x+2x) = f(x). (E) f(x) = x*x if -z <x <z and f(x+2x) = f(x).

3. If the Fourier transform of f(x) is ir] f (x)e”'*dx , the Fourier transform of f(x)
oz
_ L iffx <1 1 sinw 2 sinw \/?sina) sinw
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From the answer of problem 3, the integralj0 M 240 is(A)Vz . (B) . (C)%.
]

(D)@. (E)2n.

Solve the initial value problem: y +y =2t, y(%) = % y'(%) =2_42 . Then the

general solution of y(t) is

21
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. The general solution of differential equation xy — 4xy +6y = ;s
X

1, if0<x<rx
. The Fourier sine integral of f(x) = 0 if x>z IS
From the answer of problem 7, the integral I:l_cﬂsin xo do
[0

is

If matrix A= E 2} and X is the matrix with its eigenvectors. Hence

(1) matrix X =
(2) matrix A% =




